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Quiz I '
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Exercise 1 For A= (3,2), B=(-1,1), C = (0,-2), A =3, compute the following expressions :

i)A+rB=(3,2)+ (-11) = (2,3).

i)A-o= (3,9) -(0,-2) = {2,9)4 (0, 2) = 3,4).

i) AA+C = 3(3,2) + (0,-2) < (9,6) +{o,-2) = (o1, 4 ).

i) A-B= (3,9)e(-14,4) = -249: 1.
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Exercise 2 In the following cases, determine which located vectors 13@ and Zﬁ are equivalent.
i) P=(-3,2), @=(0,2), A=(1,-1), B=(4,3)

0-P:(o2)-(-3,) < (0,2) 4 (2.-2):(3.0] 5wl equipaled b
Beoll s b, 2) - (4o4) = (4,30 F (=4.4) 5(2 1) gﬁ; e
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i) P=(-3,0,0), Q= (0,-4,1), A=(1,-1,5), B =(-2,3,4) ¢
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Similarly, determine if these located vectors are parallel ?
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Exercise 3 Write a parametric representation of the line-in ]R4 passing through the points A = (1,2,3,4)
and B = (1,1,1,1). '
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Exercise 4 Find the equation of the hyperplane in ‘R‘l passing through the points 0 = (0,0,0,0) and
normal to N = (1,1,1,1). ‘
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